fesziiltség U [V] | aramerGsség | [mA] | teljesitmény P [mW] | ellendllas R [Q]
1. 1,585 47,89 75,90 33
2. 1,686 14,09 23,75 120
3. 1,762 3,74 6,59 471
4. 1,784 2,64 4,71 676
5. 1,801 2,21 3,98 816
6. 1,804 1,51 2,72 1197
7. 1,828 1,22 2,24 1495
8. 1,831 1,02 1,86 1799
9. 1,838 0,84 1,54 2188
10. 1,852 0,69 1,28 2682
11. 1,870 0,57 1,07 3280
12. 1,872 0,48 0,90 3890
13. 1,876 0,40 0,75 4680
14. 1,886 0,34 0,63 5610
15. 1,904 0,23 0,44 8170
16. 1,926 0,16 0,31 11980
17. 1,943 0,11 0,21 17980
Uresjdrasi fesziiltség: 2,18V
megvilagitas: 2700 Ix
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